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2023% 9A %

MHEFHBEEM@O LMo

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB (E, BRI R AHIESIE (BRE B AIA DEESEIELFHIA350M/kWh, 10A 1 BIREDEESEIE
FtiA1.80M/kWh) %, A B EFRBEMEFIRER [CTES I ESE TV EEFT,

anj
cu

PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 4.48|M/kWh

HAEEDEE

BaA 4.36|M/kWh

(1) BRE B Bl = (R EHMlAE —37,200M) x HAEBH 1,000 =
2023548 ~202356 A FiH D B SZ#f TS

greme

BT LRNT—

EBEDSE

4.48

BABEDNSE

4.36

A: 1KY O FH R im g 71,537 M 0.4699
B: 1t&H =Y DT HLNGIEE 89,884 M 0.0000
C: 1tdp1=Y DFEH A ERMHE 34,685 M Y 0.7879
FEHRRFMER = Axa +BxB +VXy =60900FH  (100AXREMEERA)

(2) NENRAREM=A<BDIGE. HIENABEM=(A—B) X 50% x (1 +HHEHRK) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 12.52
B: ETIABEEEMFRiR) 8.00
C: BhNZFEEEE M (Fiik) 18.00

F/kWh
F/kWh

[SE=-%:3--Xii

0.189 M

Fral e EELEE

0.184 M

0.00

0.00

F/kWh
FM/kWh

Uk
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2023% 9A %

MHEFHBEEM@O LMo

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB (E, BRI R AHIESIE (BRE B AIA DEESEIELFHIA350M/kWh, 10A 1 BIREDEESEIE
FtiA1.80M/kWh) %, A B EFRBEMEFIRER [CTES I ESE TV EEFT,

anj
cu

PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 5.73|F1/kWh

HAEEDEE

BaA 5.54|/kWh

(1) PR¥ B BBl = (R EHMlAE —31,400M) x EAEBEH 1,000 =
2023548 ~202356 A FiH D B SZ#f TS

gremz

BT LRNT—

EBEDSE

5.73

BABEDNSE

5.54

A: 1KY O FH R im g 71,537 M 0.1152
B: 1t&H =Y DT HLNGIEE 89,884 M 0.2714
C: 1tdp1=Y DFEH A ERMHE 34,685 M Y 0.7386
FEHRRFMER = Axa +BxB +VXxy =58300H  (100AKEMEERA)

(2) NENRAREM=A<BDIGE. HIENABEM=(A—B) X 50% x (1 +HHEHRK) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 12.20
B: ETIABEEEMFRiR) 7.00
C: BhNZFEEEE M (Fiik) 14.00

F/kWh
F/kWh

[SE=-%:3--Xii

0213 M

Fral e EELEE

0.206 M

0.00

0.00

F/kWh
FM/kWh

Uk
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20235% 9A %L

MHEFHBEEM@O LMo

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB (E, BRI R AHIESIE (BRE B AIA DEESEIELFHIA350M/kWh, 10A 1 BIREDEESEIE
FtiA1.80M/kWh) %, A B EFRBEMEFIRER [CTES I ESE TV EEFT,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 4.14|M/kWh

HAEEDEE

BaA 4.09|M/kWh

(1) PR¥ B BBl = (R EHlAE —44,200M) x EEEBH 1,000 =
2023548 ~202356 A FiH D B SZ#f TS

ELJL'H].{

BT LRNT—

EBEDSE

414

BABEDNSE

4.09

A: 1KY O FH R im g 71,537 M 0.1970
B: 1t&H =Y DT HLNGIEE 89,884 M 0.4435
C: 1tdp1=Y DFEH A ERMHE 34,685 M Y 0.2512
FEHRRFMER = Axa +BxB +VXy =62700F  (100AXREMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 12.95
B: ETIABEEEMFRiR) 7.00
C: BhNZFEEEE M (Fiik) 14.00

F/kWh
F/kWh

[SE=-%:3--Xii

0.224 M

Fral e EELEE

0.221 M

0.00

0.00

F/kWh
FM/kWh

Uk




PEHENTU7I[EE -FAEE]

20235% 9A %L

MHEFHBEEM@O LMo

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB (E, BRI R AHIESIE (BRE B AIA DEESEIELFHIA350M/kWh, 10A 1 BIREDEESEIE
FtiA1.80M/kWh) %, A B EFRBEMEFIRER [CTES I ESE TV EEFT,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 3.12|M/kWh

HAEEDEE

BaA 3.08|1/kWh

(1) PR¥ B S BBl = (SR EHlAE —45,900) x EAEBH 1,000 =
2023548 ~202356 A FiH D B SZ#f TS

E’JL’H'.I.".

BT LRNT—

EBEDSE

3.12

BABEDNSE

3.08

A: 1KY O FH R im g 71,537 M 0.0275
B: 1t&H =Y DT HLNGIEE 89,884 M 0.4792
C: 1tH1=Y DA Fifhite 34,685 M Y 0.4275
FEHRFMER = Axa +BxB +VXy =59900FH  (100AKEMERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 12.57
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00

F/kWh
F/kWh

[SE=-%:3--Xii

0.223 M

Fral e EELEE

0.220 M

0.00

0.00

F/kWh
FM/kWh

Uk
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2023%F 9A% MEEFREEH@OSMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB (E, BRI R AHIESIE (BRE B AIA DEESEIELFHIA350M/kWh, 10A 1 BIREDEESEIE
FtiA1.80M/kWh) %, A B EFRBEMEFIRER [CTES I ESE TV EEFT,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 5.21|M/kWh
HAEEDEE Biad 5.15|/kWh
(1) PR R 2 Bl = (2R BHE4% — 21,900 ) x BB {fi 1,000 = EBEDGE 5.21|F/kWh
202344 A ~202346 A TH D & S aH s HAlBEDNEZE 5.15|F/kWh
A: 1KY O FH R im g 71,537 A o: 0.2303
B: 1t&H7=Y D FHLNGHHHE 89,884 M B: 0.0000 = EE A Bl 0.152 M
C: 1tdH1=Y DFH A HEifi& 34,685 M 7 1.1441 FERl = R A 2 B Aiff 0.150

T = AXxa +BX B8 + VX y = 56200 M (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 11.01
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk



BlRENTU7I[EE - FAEE] gremz

2023%F 9A% MEEFREEH@OSMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB (E, BRI R AHIESIE (BRE B AIA DEESEIELFHIA350M/kWh, 10A 1 BIREDEESEIE
FtiA1.80M/kWh) %, A B EFRBEMEFIRER [CTES I ESE TV EEFT,

anj
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 4.79|M/kWh
HAEEDEE Biad 4.73|F/kWh
(1) BARE ER B Bl = (29 BHEI4% —27,100M) x BB {fi 1,000 = EBEDGE 4.79|F/kWh
2023548 ~202356 A T D & Hiffatlg HAlBEDNEZE 4.73|/kWh
A: 1KY O FH R im g 71,537 A o: 0.0140
B: 1t&H7=Y D FHLNGHHHE 89,884 M B: 0.3483 = EE A Bl 0.158 M
C: 1tdH1=Y DFH A HEifi& 34,685 M 7 0.7227 FERl = R A 2 B Aiff 0.156

TR = AXxa +BX B8 +VXxy = 57400 H (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 10.94
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk



FEEATY7 (BE HAIBE]

2023%F 9A% MEEFREEH@OSMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB (E, BRI R AHIESIE (BRE B AIA DEESEIELFHIA350M/kWh, 10A 1 BIREDEESEIE
FtiA1.80M/kWh) %, A B EFRBEMEFIRER [CTES I ESE TV EEFT,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 7.21|M/kWh
HAEEDEE i 6.99|F4/kWh
(1) BR B B 2 Bl = (29 BHEi4% — 26,000 ) x BB {fi 1,000 = EBEDGE 7.21|A/kWh
202344 A ~202346 A TH D & S aH s HAlBEDNEZE 6.99|F/kWh
A: 1KY O FH R im g 71,537 A o: 0.1543
B: 1t&H7=Y D FHLNGHHHE 89,884 M B: 0.1322 = EE A Bl 0.234 M
C: 1tdH1=Y DFH A HEifi& 34,685 M 7 0.9761 FERl = R A 2 B Aiff 0.227 M

Egf@iE = AXxa +BX S8 +VXxy = 56800 M (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 10.83
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk
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2023% 9A %

MHEFHBEEM@O LMo

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB (E, BRI R AHIESIE (BRE B AIA DEESEIELFHIA350M/kWh, 10A 1 BIREDEESEIE
FtiA1.80M/kWh) %, A B EFRBEMEFIRER [CTES I ESE TV EEFT,

anj
cu

PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 5.75|F1/kWh

HAEEDEE

BaA 5.60|F4/kWh

(1) PR¥ B S BBl = (S EHMliAE —26,000) x EAEBH 1,000 =
2023548 ~202356 A FiH D B SZ#f TS

Fremsz
¢

BT LRNT—

EBEDSE

5.75

BABEDNSE

5.60

A: 1KY O FH R im g 71,537 M 0.2104
B: 1t&H =Y DT HLNGIEE 89,884 M 0.0541
C: 1tdp1=Y DFEH A ERMHE 34,685 M Y 1.0588
FEHRFMER = Axa +BxB +VXy =56600M  (100AKEMERA)

(2) NENRAREM=A<BDIGE. HIENABEM=(A—B) X 50% x (1 +HHEHRK) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 9.54
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00

F/kWh
F/kWh

[SE=-%:3--Xii

0.188 M

Fral e EELEE

0.183 M

0.00

0.00

F/kWh
FM/kWh

Uk
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2023%F 9A% MEEFREEH@OSMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

KB (E, BRI R AHIESIE (BRE B AIA DEESEIELFHIA350M/kWh, 10A 1 BIREDEESEIE
FtiA1.80M/kWh) %, A B EFRBEMEFIRER [CTES I ESE TV EEFT,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 3.51|M/kWh
HAEEDEE i 3.46|M/kWh
(1) BRR B B 2 Bl = (2R BHEi4% — 27,400M) x B #EB{fi 1,000 = EBEDGE 3.51|A/kWh
202344 A ~202346 A TH D & S aH s HAlBEDNEZE 3.46|M/kWh
A: 1KY O FH R im g 71,537 A o: 0.0053
B: 1t&H7=Y D FHLNGHHHE 89,884 M B: 0.1861 = EE A Bl 0.130 M
C: 1tdH1=Y DFH A HEifi& 34,685 M 7 1.0757 FERl = R A 2 B Aiff 0.128 [

EHREMER = Axa +Bx S8 + VX ¥y = 54400 H (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 10.03
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk



